
 
161 Make up lecture due to zoom recordingglitch

Prof ANANT SAHAI
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2Questions 1 What are the eigenvalues of A
titanite eisenialatid iiitear
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They're the same

1 General Fact If a matrix is uppertriangular the entries on the
diagonal are the eigenvalues

ConsiderF CA XI

We know that if X is an eigenvalue of F then
the matrix Fx is not invertible And vice versa

If X Xi for any i then X is not an eigenvalue off
xxi then A
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has all nonzero entries on the diagonal

Ax is invertible

Since A I D is uniquely solvable
by back substitution

X is not an eigenvalue of A



Other direction If X Xi for some i then X is an
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of A
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A has a nullspace tht is nontrivial

X is an eigenvalue of A
Claim Eigenvalue of A are the same as eigenvalues of A

Consider def XI A def XI UTA o
def auto OAU
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der UT XI A o

defCUT det XI A def u
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det AI A detcutu
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The two characteristic polynomials are the same

eigenvalue are the same


